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PRACTICE QUESTIONS

0.1. A manufacturing company has two production departments, Department A and
Department B. It also has two service departments, quality control and the repairs

department. Allocated overhead costs and apportioned general overhead costs for each
cost centre are as follows:

Department A: Rs.100,000

Department B: Rs. 200,000

Quality Control- Rs. 150,000

Repairs: Rs. 220,000
Department Total DepA DepB . QCR Repairs
Quality control 100% 40% 40% - 20%
Repairs 100% 50% 40% 10% i

Required: Apportionment of FOH using:
(a)  Simultaneous equation method

(b)  Repeated distribution method
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